
 

 

Missing Word Puzzles Questions with Answers Pdf 

Questions : 1 

 

Ans: X 

In rows letters in the first line increase by steps of 5 from left to right, the second row in steps of 

4, the next by three and the bottom line by 2. 

Questions : 2 



 

 

 

Ans: G 

In each circle, going clockwise, alternate letters increase in value by 3 steps for the left hand 

circle, 4 for the upper and 5 for the lower circle. 

Questions : 3 

 

Ans: 3 



 

 

Add the numerical values of the pairs of letters and write the two digit result in the boxes below. 

Questions : 4 

 

Ans: W 

Starting at the top, the value of the right hand letter is two ahead of the left hand letter, then 3 

ahead, then 4, etc. 

Questions : 5 

 

Ans: N 



 

 

Letters are put in alphabetical order, working clockwise around each circle, and from left to right, 

missing out letters written with any curved lines. 

 

 

 

 

 

 


